	____ 1.	Emphysema mainly affects the ________ of the lungs. 


	A)	alveoli    B)  bronchioles    C)  mucosa    D)  trachea    E)  villi 








	____ 2.	The average breathing rate is about ________ cycles per minute. 


	A)	5    B)  8    C)  10    D)  16    E)  24 








	____ 3.	The function of the alveoli is 


	A)	air storage. 	D)	gas exchange. 


	B)	blood production. 	E)	oxygen production. 


	C)	carbon dioxide destruction. 








	____ 4.	After the trachea, inhaled air enters the ________ next. 


	A)	alveolus    B)  bronchiole    C)  bronchus    D)  pharynx    E)  trachea 








	____ 5.	The epiglottis covers the opening of the 


	A)	bronchus.    B)  larynx.    C)  nose.    D)  pharynx.    E)  trachea. 








	____ 6.	The inner walls of the bronchus have 


	A)	mucous membranes with cilia. 	D)	serous membranes without cilia. 


	B)	mucous membranes without cilia. 	E)	synovial membranes with cilia. 


	C)	serous membranes with cilia. 








	____ 7.	After the larynx, exhaled air enters the ________ next. 


	A)	alveoli    B)  bronchus    C)  nose    D)  pharynx    E)  trachea 








	____ 8.	The two most abundant gases of inhaled air are 


	A)	carbon dioxide and nitrogen. 	D)	nitrogen and oxygen. 


	B)	carbon dioxide and oxygen. 	E)	nitrogen and sulfur dioxide. 


	C)	carbon monoxide and nitrogen. 








	____ 9.	There are an estimated ________ million alveoli per lung. 


	A)	20    B)  50    C)  80    D)  100    E)  150 








	____ 10.	Another name for the alveolar macrophage is the 


	A)	B lymphocyte. 	D)	T lymphocyte. 


	B)	dust cell. 	E)	type II alveolar cell. 


	C)	mast cell. 








	____ 11.	Surfactant is a(n) 


	A)	blood carrier. 	D)	phagocytic substance. 


	B)	gas transporter. 	E)	tension remover. 


	C)	insulator. 








	____ 12.	Another name for the respiratory distress syndrome is 


	A)	bronchitis. 	D)	pulmonary edema. 


	B)	emphysema. 	E)	synovial distress syndrome. 


	C)	hyaline membrane disease. 








	____ 13.	The vocal cords are located in the 


	A)	alveoli.    B)  bronchi.    C)  larynx.    D)  pharynx.    E)  trachea. 








	____ 14.	Phonation is the 


	A)	collapsing of the lungs. 	D)	production of sound. 


	B)	elimination of mucus. 	E)	vibration of the trachea. 


	C)	inflammation of the vocal cords. 








	____ 15.	Oxygen and carbon dioxide are transported through the alveolar wall by 


	A)	active transport. 	D)	exocytosis. 


	B)	diffusion. 	E)	pulmonary transport. 


	C)	endocytosis. 








	____ 16.	About ________ percent of the oxygen in the blood is bound to hemoglobin. 


	A)	20    B)  40    C)  68    D)  84    E)  98 








	____ 17.	Carbonic anhydrase is located in the 


	A)	alveolar cells. 	D)	platelets. 


	B)	epithelial cells. 	E)	red blood cells. 


	C)	lymphocytes. 








	____ 18.	Carbon dioxide is mainly packaged in the blood in ________ ions. 


	A)	bicarbonate    B)  carbonate    C)  carbonic    D)  phosphate    E)  sulfate 








	____ 19.	Pulmonary veins return blood to the ________ of the heart. 


	A)	conduction system 	D)	right atrium 


	B)	left atrium 	E)	right ventricle 


	C)	left ventricle 








	____ 20.	When the diaphragm contracts, it 


	A)	becomes dome-shaped and elevates. 


	B)	becomes dome-shaped and flattens. 


	C)	becomes flattened and dome-shaped. 


	D)	flattens and elevates. 


	E)	flattens and lowers. 








	____ 21.	The muscles that lift the rib cage are the 


	A)	abdominal. 	D)	lumbar. 


	B)	bronchials. 	E)	pulmonary. 


	C)	intercostals. 








	____ 22.	A tidal volume is about ________ milliliters. 


	A)	200    B)  500    C)  1000    D)  1500    E)  2500 








	____ 23.	Deep inhalation can draw in as much as ________ milliliters of air. 


	A)	500    B)  1500    C)  3000    D)  10,000    E)  20,000 








	____ 24.	The residual volume is about ________ milliliters. 


	A)	200    B)  500    C)  1200    D)  2000    E)  3000 








	____ 25.	The breathing center is located in the 


	A)	cerebellum. 	D)	medulla. 


	B)	cerebrum. 	E)	thalamus. 


	C)	hypothalamus. 








	____ 26.	Ventricles are 


	A)	cavities in the brain. 	D)	layers of the lungs. 


	B)	coverings of the brain. 	E)	gas exchange sites in the lungs. 


	C)	depressions in the diaphragm. 








	____ 27.	An increase in the blood concentration of ________ ions increases the rate of breathing. 


	A)	calcium    B)  hydrogen    C)  potassium    D)  sodium    E)  zinc 








	____ 28.	The two chemical changes in the blood that affect breathing changes the most involve 


	A)	carbon dioxide and hydrogen. 	D)	nitrogen and oxygen 


	B)	carbon dioxide and oxygen. 	E)	oxygen and phosphate. 


	C)	hydrogen and oxygen. 








	____ 29.	Stretch receptors are found in the 


	A)	cerebrum.    B)  hypothalamus.    C)  lungs.    D)  medulla.    E)  trachea. 








	____ 30.	The meninges are 


	A)	gas exchange sites. 	D)	transport sites for carbon dioxide. 


	B)	layers around the brain. 	E)	transport sites for oxygen. 


	C)	layers around the lungs. 








	____ 31.	As emphysema develops, the surface area in the alveoli increases. 


	A)	True   B)  False








	____ 32.	The bronchiole is a smaller structure than a bronchus. 


	A)	True   B)  False








	____ 33.	Oxygen leaves the alveolus and enters the blood by diffusion. 


	A)	True   B)  False








	____ 34.	Carbon dioxide leaves the blood and enters the alveolus by diffusion. 


	A)	True   B)  False








	____ 35.	The right and left bronchus are connected to the pharynx. 


	A)	True   B)  False








	____ 36.	The bronchioles consist of skeletal muscle. 


	A)	True   B)  False








	____ 37.	Sulfur dioxide is found in cigarette smoke. 


	A)	True   B)  False








	____ 38.	Type I alveolar cells produce surfactant. 


	A)	True   B)  False








	____ 39.	Surface tension on the alveoli develops from the presence of water. 


	A)	True   B)  False








	____ 40.	RDS develops from a lack of surfactant. 


	A)	True   B)  False








	____ 41.	Thicker vocal cords produce higher-pitched sounds compared to thin vocal cords. 


	A)	True   B)  False








	____ 42.	The tissue layer of the alveoli is smooth muscle. 


	A)	True   B)  False








	____ 43.	About 7 percent of the carbon dioxide in the blood is bound to hemoglobin. 


	A)	True   B)  False








	____ 44.	Blood with a low oxygen concentration is transported from the right side of the heart to the lungs. 


	A)	True   B)  False








	____ 45.	To produce an inhalation, the ribs are elevated. 


	A)	True   B)  False








	____ 46.	The contraction of the diaphragm decreases the volume of the thoracic cavity. 


	A)	True   B)  False








	____ 47.	Exhalation is mainly a passive process. 


	A)	True   B)  False








	____ 48.	Deep inhalation can produce an air volume that is four to six times the volume of a tidal volume. 


	A)	True   B)  False








	____ 49.	Asthma reduces the inspiratory reserve volume. 


	A)	True   B)  False








	____ 50.	Chemical receptors for breathing are found in the alveoli. 


	A)	True   B)  False








	____ 51.	A buildup of carbon dioxide in the blood increases the rate of breathing. 


	A)	True   B)  False








	____ 52.	Hyperventilation increases the concentration of carbon dioxide in the blood. 


	A)	True   B)  False








	____ 53.	Bacteria and viruses can cause infections of the respiratory tract. 


	A)	True   B)  False








	____ 54.	About 8 percent of the adult population suffers from asthma. 


	A)	True   B)  False








	____ 55.	Asbestosis increases lung capacity. 


	A)	True   B)  False








	56.	The respiratory system supplies to the body the gas ________, which is needed for metabolism. 








	57.	The respiratory system removes from the body the gas ________, a waste product of metabolism. 








	58.	The epiglottis closes the opening to the voicebox during ________. 








	59.	During exercise, the size of the openings through the bronchioles ________. 








	60.	Plants make oxygen by the process of ________. 








	61.	Surface tension develops from the ________ bonds between water molecules. 








	62.	Surfactant reduces the ________ on the alveoli. 








	63.	An olfactory _________ is in the roof of the nasal cavity. 








	64.	The male sex hormone ________ affects the thickness of the vocal cords. 








	65.	Carbon dioxide diffuses from the tissue cells and enters the blood ________ next. 








	66.	Carbonic acid can reform the gas ________. 








	67.	The diaphragm is located between the ________ and ________ cavities. 








	68.	The contraction of the diaphragm increases the size of the ________ cavity. 








	69.	A relaxed diaphragm resumes a ________ shape. 








	70.	During asthma, the bronchioles ________. 








	71.	________ are the receptors that detect the concentration of carbon dioxide and hydrogen ions in the blood. 








	72.	The __________ circulates through the ventricles of the brain. 








	73.	_________ is an infection of the sinuses. 








	74.	Asbestosis is a buildup of ________ tissue in the lungs. 








	75.	People with asthma use an inhalant with the substance ________. 








	76.	What advantages promote gas transport through the walls of the alveoli? 








	77.	How do the contraction of the diaphragm and intercostal muscles change the size of the thoracic cavity? 








	78.	How is carbon dioxide transported in the blood? 








	79.	In which direction do oxygen and carbon dioxide diffuse at the tissue cells? 








	80.	Match each term on the left to an appropriate association on the right.


		


			____ alveoli	A. first place where air is inhaled


		


			____ capillary	B. splits at its base into bronchi


		


			____ diaphragm	C. muscle of respiration


		


			____ larynx	D. microscopic blood vessel


		


			____ nose	E. 300 million per pair of lungs


		


			____ trachea	F. covered at the top by the epiglottis











�
Answer Key -- Chapter 9





	1.	A	





	2.	D	





	3.	D	





	4.	C	





	5.	B	





	6.	A	





	7.	D	





	8.	D	





	9.	E	





	10.	B	





	11.	E	





	12.	C	





	13.	C	





	14.	D	





	15.	B	





	16.	E	





	17.	E	





	18.	A	





	19.	B	





	20.	E	





	21.	C	





	22.	B	





	23.	C	





	24.	C	





	25.	D	





	26.	A	





	27.	B	





	28.	A	





	29.	C	





	30.	B	





	31.	B	





	32.	A	





	33.	A	





	34.	A	





	35.	B	





	36.	B	





	37.	A	





	38.	B	





	39.	A	





	40.	A	





	41.	B	





	42.	B	





	43.	B	





	44.	A	





	45.	A	





	46.	B	





	47.	A	





	48.	A	





	49.	A	





	50.	B	





	51.	A	





	52.	B	





	53.	A	





	54.	B	





	55.	B	





	56.	oxygen 





	57.	carbon dioxide 





	58.	swallowing 





	59.	increases 





	60.	photosynthesis 





	61.	hydrogen 





	62.	surface tension 





	63.	membrane 





	64.	testosterone 





	65.	plasma 





	66.	carbon dioxide 





	67.	thoracic and abdominal 





	68.	thoracic 





	69.	domed or elevated 





	70.	constrict 





	71.	Chemoreceptors 





	72.	CSF 





	73.	Sinusitis 





	74.	scar 





	75.	epinephrine 





	76.	Alveoli have thin walls, a rich supply of capillaries, and a large surface area. 





	77.	The contraction of the diaphragm increases the thoracic cavity's size vertically as this muscle flattens.  The contraction of the intercostals increases the size transversely. 





	78.	Most carbon dioxide is a part of the bicarbonate ion; about 25 percent is bound to hemoglobin; and about 7 percent is dissolved in the plasma. 





	79.	Oxygen diffuses from the blood into the tissue cells.  Carbon dioxide diffuses in the opposite direction. 





	80.	E, D, C, F, A, B


Chapter 9














Page �PAGE �1�











